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~ COMPUTERS AND INFORMATION TECHNOLOGY.

4. A browser is an interactive program that per mits a user

ational Eyber Olympiad

Note: The syllabus of NCO is based on Windows 7 and MS Office 2010. The test paper
: is divided into three sections.

Sample Questions

 LOGICALREASONING
1. If TOGETHER is written as RQEGRJCT, how will PAROLE
be written?

(a) NCPQJG (b) NCQPJG

(c) RCPQIK (d) RCTQNG
_ If the code of ‘'NUMBER’ is ‘MVLCDS’, then what is the
code of 'SECOND"?

(a) CTQDRB (b) GRQDRB

(c) REBPME (d) RFANMD

. In the given number series, how many 5's are there which
are preceded by a prime number but not followed by a
prime number?
35942638543253648
345392375347564653587

(@)1 () 3 (@2 (d) 4

to view web pages on the computer. The browser performs
which of the following services?

(a) Connecting to the source computer whose address is
specified
(b) Requesting new page from the server
(c) Receiving new page
(d) All of these
. Which of the following is the correct code for creating a box
in QBasic?
(a) LINE (40, 40) - (60, 80), 2, BF
(b) LINE (40, 40) — LINE (60, 80), 2, BF
(c) LINE (40, 40) - LINE (60, 80), 1
(d) LINE (40, 40) - (60, 80), 2, F
. How many times does the program print HELLO STUDENTS
when the following QBasic code is executed?
CLS
C=4
E =T
WHILE C <5
PRINT "HELLO STUDENTS"

c=C+1
WEND
END

b) 2 e

(@) 1 (c) 4
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15.

16.

It is a software that projects a 3D virtual globe of the earth
that displays map details and geographical information to
users. It was originally created by KeyHole, Inc.

(a) Google+ (b) Google Maps
(c) Google Earth (d) Google Chrome

is a program that catalogues websites. Unsolicited
e-mail is called is not always required to
connect to the internet.

(a) Web spider, Spam, Modem

(b) WebBot, Junk, ISP

(c) Web browser, Trash, Computer

(d) Web crawler, InMail, Web Browser

Ankur wants to show his slides from the first slide in
the presentation in MS-PowerPoint 2010. Which of the
following options will he use?

—iﬂ (b) (C)E'E_Er (d)@

Pick the odd one out.
& (5

@) b () Pinteredt (d) B

A Wi-Fi ad-hoc service in Apple’s O$ X and i0S, with
the help of which users can share files with other Mac
computers, is

(a) AirDrop
(c) Google Docs

(b) DropBox

(d) SkyDrive

Which of the following processors is present in iPhone 5?
(a) AMD (b) i5 (c) A6 (d) A5

Which of the following functions in MS-Excel 2010 is used
to display the current system date?

(a) DATE() (b) NOW(
(c) TODAY() (d) DATETIME()
Which of the following is NOT an antivirus program?

(a) Kaspersky 3 (b) AVG
(c) Avira (d) Doomsday
A _______ is a group of software files that enables

the hardware device to communicate with computer’s
operating system.

(a) Internal Modem (b) Device Allocator
(c) Device Driver (d) Register

Which of the following screen modes can be used for text in
QBASIC?

(a) SCREEN 0
() SCREEN 2

(b) SCREEN 1
(d) All of these
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How many times will the given code be executed in
QBASIC?

LETi=1
FOR]=iTO1
PRINT “TEST”
NEXT]
(2) Infinite times  (b) 0 (01
VoIP is a term used for

(d) 2

(a) A software for accessing internet for free
(b) A wireless device used to connect to internet
(c) A hardware device for connecting to internet

(d) Technology thatlets people use internet as transmissio
medium for making telephone calls :

Favicon stands for favorite icon that represents a tiny version
of a company or website’s logo and are most often found in
address bar or in list of bookmarks in a web browser. Which
of the following is the favicon used for Google search engine
released on 1st September, 2015?

o oG o o

Consider the cell Al has a value 400.45. What would be
displayed in the cell when you click on 4% button in MS-
Excel 2010? g

(a) 4005 (b) 4004 (c) 40045 (d) 4004.50

Given image shows two wireless devices
with a wall between them. Which of
the following technologies will be used

by these devices for communication or

exchanging data? '
(a) Bluetooth
(c) Infrared

(b) Wi-fi
(d) Both A and B

In the given image, data is transmitting
from single location to multiple locations. ?

It is a type of : é e
(a) Point-to-Multipoint communication é
(b) Telephony-to-Point communication
(c) Antenna Array communication
(d) Multipoint-to-Multipoint communication

Which of the following communication protocols adds the
security capabilities to standard HTTP protocol for secure
communication over a computer network by providing
authentication of the visited website?

(a) HTTPS
(c) HTTPST

(b) HTTPT
(d) HTTPSS

24, Match ‘the virus types given in Column-I with their

25.

26.

(d) (a)-(iid), (b)-(ii), (c)-(i)

corresponding examples given in Column-II.
C olumn-I Column-II

(a) Macro Virus

(b) Boot Sector Virus

(c) Polymorphic Virus

(a) (a)-(iii), (b)-(1), (c)~(ii)

(b) (a)-(3), (b)~(i), (c)-(iii)

() (a)-(i), (b)-(1), (c)-(iii)

(i) Lamer Exterminator
(ii) Natas
(iii) Melissa

- ACHIEVERS SECTION = _
Computer Language Translators is a computer program that
converts instructions written in a given computer language
to another. Which of the following options would replace
the ‘?” in the given diagram that represents the working of
Computer Language Translator?

Source code (High
level Language

Computer Language
Translator

(a) Machine code (b) Alphabet code
(c) Textcode (d) Linker code

Which of the following QBASIC codes will produce the
given output?

Qutput:
11
12
13
(a) FORx=11TO15 (b) FORx=11TO15
PRINT x PRINT x
IF (x = 13) THEN IF (x == 13) THEN
EXIT FOR EXIT FOR
NEXT x NEXT x
(c) FORx=11TO15 (d) FORx=11TO15
PRINT x PRINT x
IF (x <> 13) THEN IF (x = 13) THEN
EXIT FOR * EXIT FOR
NEXT x MORE x
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Sample Questions

Which of these is a type of boot sector virus?

(a) Devil.941 (b) Umbrella.3173

(c) Sunday (d) WM ConceptA

Which of the following is not a loop statement in QBASIC?

(a) DO..LOOP (b) FOR..NEXT

(c) WHILE..WEND (d) EOQP.IF

Which of these is not a communication service provided by the Internet?
(a) E-mail (b)  Chatting

(c) Newsgroup (d) E-commerce

Which of these symbols separates the two parts of an e-mail address?

(@ $ ® *

() @ (d) &

Which of these folders contain all the e-mails that have been composed but not sent?
(a) Inbox (b) Draft

(c) Trash (d) Sent

Which of these functions is used to determine the lowest number within a range?
(@) SUM (b) AVERAGE

(c) MAX (d MIN

Which of the following is anti-virus software?

(a) Norton Antivirus (b)  Quick Heal Total Security

(c) Avast (d)  All of these

Which tool is used to draw precise paths with straight lines and smooth flowing
curves in Flash?

(a) Pencil Tool (b)  Pen Tool

(c) Curve Tool (d) None of these
Which of these symbols precedes a formula in Excel?

(a) Ampersand (&) (b) Equal to sign ‘=’
(¢) Number sign (#) (d)  Asterisk (*)
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Find the odd one out.

(a) Plotter (b) Barcode reader
(e] QCR (d) OMR

Which QBASIC statement draws a square?

(a) LINE (b) RECTANGLE
(c) SQUARE (d) None of these
Which of these emoticons expresses a happy expression?

(@ (o) S

(c) :-O iy )

Which of these is an attribute of the BODY element?

(a) Color (b) Background

(c) Font face (d) Bottom margin
Which of these attributes of the FONT element is used to set the type of the font?
(a) Size ) (b)  Shape

(c) Face (d) Face color
Which of these is the jump statement in QBASIC?

(a) GOTO (b) JUMPTO

() Jump (d) None of these

The horizontal or vertical lines used to identify the value of each data
point within the chart are known as

(a) Gridlines (b) x-axis
(c) y-axis (d) Data labels

A reusable graphic image, button, movie clip, or fext that is stored as a
part of a Flash movie is known as

(@) Symbol (b) Frame

(c) Layer (d) None of these
What does OCR stand for?

(a) Optical Code Recognition

(b) Optical Character Recognition

)
(c) Optical Character Reader
(d) None of these
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Which of these is not a category of e-commerce?

(a) Business-to-Customer (b)  Business-to-Government
(c) Digital Middleman (d) Business-to-Business

Which of these indicates the frame number currently being displayed on
the stage?

(a) Frame Rate (b)  Current Frame

(c) Playhead (d) None of these

Which of these elements encloses all the other elements and tags in HTML?
(@) =<BODY>. . .</BODY> (b) <HTML>. . .</HTML>
() <HEAD>. . .</HEAD> (d) <END>. . .</END>

Which of these HTML elements provides a title to a web page?
(a} <BODY>. . .</BODY> (b) <HTML>. . .</HTML>
(c) <HEAD>. . .</HEAD> (d) <TITLE>. . .</TITLE>

Which of these HTML elements is used to underline the text in a web page?

()} <UNz. « -</UN> (b) <UND>. . .</UND>

o 0 S - (d) None of these

Which of these HTML elements is used to generate a horizontal line (rule) in a web
page?

(@) =<ER=. . <LHB: (b) <HR>

(e} <Wei. =</l (d) <HRULE>. . .</HRULE>

Which of these tools is used to acquire colours and style from existing lines and apply
the same to other objects in Flash?

(a) Copy Tool (b)  Paint Bucket Tool

(c) Eyedropper Tool (d) None of these
Microsoft Excel and Lotus 123 are examples of

(a) Electronic spreadsheet (b) 7 Word processor

(c) Image Editor ‘ (d) Presentation software

The cell address A$4 in a formula implies that it is a(an)
(a) Mixed cell reference :

(b) Absolute cell reference

(c) Relative cell reference

(d) None of these

R e




~ 28. Which of these formulas is used to find the average of contents in cells B1 to B5?

(a) =AVG(B1:B5) (b) =AVERAGE(B1,B5)
(c) =AVERAGE(B1:B5) (d)  None of these

29. The cell address $A%$4 in a formula.implies that it is a(an)
(@) Mixed cell reference (b)  Absolute cell reference
(c) Relative cell reference (d) None of these

30. Which of these displays the contents of the active cell in the worksheet?

(a) Formula Bar (b)  Title bar
(c) Fonttab (d) Status bar
ANSWERS

1, (a) (d) 3 (d) 4 (c) 5. (b)
6. (d) 7. (d) 8. (b) 9. (b) 10. (a)
11. (@) 12, {d) 13. dh) 4. - o) 15, 4a)
16. (a) 7. &) 18. (b) 19. (o 20. (b)
21. b} 22 < d) 23 A 24. {a) 25, (e
26. (a) 21, {a) 28. (c) 29, iib) 30. -(a)




tn Excel?

h to accommodate some data e
egatwe time or. date is used. ; i 73
he wrong type of operand is used

',A ceH reference is Invahd

Com_ma Gy

-~ Semicolon ()
_ Backslash(\)

@

order.

-~ Colon (%)

This option in Excel helps to arrange data accordlng toa partlcular ﬁe]d in ascendmg or descendmg

Sa '_(a) o
Ay

©

24

‘Sort

Filter: -~
Formula
Function

The weather department wants to show the trend of temperatures over ayear in Excel Whnch of
these charts would be most suitable in Excel? ]

@
(b)
(o)
(d)

Doughnut chart
Pie chart

Line chart
Column chart

Which of these would you look at to understand the nature of data displayed on a chart in Excel?

@
(b)
(©
(d)

Layout
Legend
Labels
Gridlines

By ‘uploading’, we mean that a

@
(b)
©
(d)

file is being copied from a remote computer.
fileis belng sent to a remote computer.
program is being instailed on a computer.
program is identifying and removing viruses.

Which of these options in Windows helps you manage the sizes of backups?

€))
(b)
(©
(d)

Restore my file option
Manage Space link
Manage Backup link
Restore Backup option




: 9. Which of these would you use for programming ? — -

(@  MS Word and MS Excel
(b) QBASIC and Excel

(©  QBASIC and C++

(d) C++ and MS Paint

10. Maya typed the following program in QBASIC
-~ What will its output be?

PRINT S “atb” i
a=10;b =25 f
() 735
(b) 250
() Error message

| (d) ~ PRINT 35

' 1. Which of these commands helps us to shlft the control of a program to the de5|red command with
a specific label in QBASIC? i ik

(@ GOTO command

; (b)  If...Then... Else statement
(© Do... While.... statement
(d) None of these

12.  In QBASIC, which of these is the loop used when the number of repetitions is known?

(@ DO WHILE...
(b) DO UNTIL...
(© FOR_..NEXT _ :
(d) WHILE...WEND : : _ e g

13.  Which of these is false about images made in Photoshop?

@ They are made up of lines and curves.
(b)  These images can be made larger or smaller without any loss in quality.
(@) These images are made of mathematically defined objects.

(d) None of these

14.  Which tool in Photoshop helps to select parts of an image that are similar in colour?

(@) Magic wand tool
(b) Lasso tool
@ Marquee Tool

() Hand tool

15.  Which of these tools in Photoshop will help you to smoothen irregular edges of an object when you
cut, copy, and paste the object?

() Feathering tool ;
(b) Smudge tool k
© Anti Aliasing tool

(d) Blur tool

16. Priya wants to use a particular shade of blue from one Photoshop image in another image. Which of
these tools should she use to get the exact colour?

(@) Color Palette
(b) Eye Dropper tool
(@) Path Selection tool

(d) Hand tool
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i want to tnsert a Ime break my HTML page Wthh tag should I use? :-' &

g lf you want to speafy the font colour on your HTML page, Whéré WOﬁid YGU .d°7".5_6_? i

LAt In the HEAD tag
D) In the <p>tag -

Enas (e In the FONT tag

I (o) In the <HR> tag

‘If | want to specify the text size for an HTML page,

- Adobe Photoshop
-~ OBASIC: ;
ML

: 'MS Excei

'fi<BR> e
g"<BODY>;“_5;H
RS iy

(@ | should use the FONT tag : TR e
(b) | may or may not enclose values in double quotation marksinatag. . A
© | will use suitable attnbutes with different font sizes. AR

(d) | will do all the above. -

(p) 0z ‘() ‘6l ‘(®) B8l ‘(® (@D 9l @) sli@ P e T @ U {0)0LI) 6@ 8@ L@ 9IS ‘e) 7P € T@L
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Today Computer and Information Technology have become integral part of human existence.
Computer awareness along with mental ability, logical and analytical reasoning is required to
be successful in today's competitive world. National Cyber Olympiad is now a global search
competition that aims at identifying and nurturing cyber talent amongst the youngsters. It is
as much about inspiring the younger generation to enhance their knowledge and
comprehension of issues related to Computers and Information Technology as about testing
their aptitude in these streams.

The National Cyber Olympiad is in two levels:
¢ Levell:

The first level of the test is organized in the respective schools of the participants during
the school hours. The level 1 competition is a written objective-type test of 60 minutes
duration comprising 35 objective-type (Multiple Choice) questions for classes 3 to 4 and 50
objective-type (Multiple Choice) questions for classes 5 to 12. The question paper consists
of Mental Ability, Logical and Analytical Reasoning, Computer and Information
Technology. There are separate question papers for each class. The medium of the test is
English. CBSE, ICSE/ISC and State Board syllabus is followed for setting the test papers.

4+ Level2:

The qualifiers to second round would include top 5% students who appear for the 1st level
exam from each class, state wise top 10 performing students from each class and topper of
each class where at least 10 students have appeared for the exam.

No of questions: 50 Time allowed: 60 minutes

There are 3 sections: 15 questions in section I, 15 in section IT and 20 in section ITL.
Syllabus

+ Section - I (Mental Ability): Natural Numbers and Whole Numbers, Integers, Factors

. and Multiples, Ratios, Proportion and Unitary Method, Percentage and Its Applications,

Algebraic Expressions, Linear Equations in One Variable, Basic Geometrical Concepts,

Line Segments, Angles, Triangles, Pairs of Lines & Transversal, Construction, Perimeter
and Area, Rational Numbers, Decimal Representation of Rational Numbers, Exponents.

4+ Section- Il (Logical & Analytical Reasoning): Problems Based on Figures, Find Odd
Numeral Out, Series Completion, Coding-Decoding, Mathematical Reasoning, Analytical
Reasoning, Mirror Images, Embedded Figures, Direction Sense Test, Cubes and Dice.

+ Section - III (Computers & Information Technology): Fundamentals of Computer,
Evolution of Computers, Hardware, Software, Input & Output Devices, Memory &
Storage Devices. Using Windows, MS-Word, MS-Powerpoint, MS-Excel, Programming in
Q-Basic, Internet & Viruses.
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Mental Ability
g U

10.

11.

12.

13.

14.

15.

A man works for 2 days and then rests for one day, then works for 2 days and rests for one day and
so on. For everyday he works, he earns3 100. How much will he earn from Monday to Saturday?

a. 3200 b. ¥300 c. 3400 d. ¥500

A man travels by a car for 3 days. He traveled 10 hours each day. He drove on the first day at 45
km/hr, second day at 40 km/hr and third day at 20 km/hr. His average speed was :

a. 30km/hr b. 35km/hr ¢. 38km/hr ~ d. 40km/hr
The factorization of 25 -p 2-q 2-2pqis

a. 5+p+qB-p+ag) b. 5+p+q@ (B-p-q)

c. 5+p+q)(G+p-9 d. 6+p-9(G-p+a)

What least number must be subtracted from each of the numbers 17, 21, 34, 42 so that the ratio of
first two is the same as the ratio of the next two?

a. 0(zero) i 1b. 1 ¢. 2 i T

The value of (6.98 x 6.98 - 2.02x2.02) divided by 4.96 is

a. 9 . b. 496 | c. 3.72 d. 6.76

Any cyclic parallelogram having unequal adjacent sides is necessarily a

a. Square ~ b. Rectangle ~ c¢. Rhombus d. Trapezium
—14%x2+3-6+9=2 If (+ =-),(-=+),(x = +)and (+ = X), then

a. 28 : | 1b. 38 . 48 | id. 58

Two numbers are in the ratio 5:6 and if 4 is subtracted from each, they are reduced to 2:3, then th
highest number is

a. 4 | b2 [ je8 | id. 10
How many prime numbers lie between 115 - 122.
a. 2 { 1b. 3 (e 4 | d. noneofthese

A runs faster than E but not so fast as B and B runs faster than C but not as faster than D, wh
runs faster?

a. A ( 1b. B (JecC [ ldD

L

A person climbs up a pole of 88 mt high, in every minute he climbs 12 mt but slips down 8 mt. So
_ howmuch time he will take to reach at the top? :

8¢ 19 . h. 29 [ Je 28 - d. noneofthese

There are 24 birds on a tree. A hunter fired shot down 20. So how many birds left on the tree?

a. 4 (b7 [ jec 24 . d. noneofthese

If x persons can complete work in t hours, in how many hoursy persons can complete it?

a. x/yt b. t/yx ﬁ c. ty/x : _ d. noneofthese

Ifp AqOr,itispossible that-

a. pxXgXxr b. pxq[r y c. p{qlr d. pq(r

If 27 *3 =243, 5 *4 = 80. Then what is the value of 3 * 77

a. 84 [ b, 147 e 63 1d. 23

44




Logical andAnalytical Reasoning
16.

17,

18.

19.

20‘

21.

22.

23.

24.

25.

26.

21.

28.

29.

30.

Unscramble the letters of words and find odd one out.
a. TLAES .1 b. KOBO | | e. PPREA | d. NCEPLI

If Yellow is called Green, Green is called Black, Black is called White, White is called Red, Red is

called Blue, Blue is called Orange then what is the colour of milk?

a. White | b. Black [ e Red " 'd. Green

IfRUNNER is coded by SUMMER, the code for WINTER will be:

a. XIMSER b, VINTER | c. SINVER " ld. VIOUER L]
A clock is set to show the correct time at 11 a.m. The cock gains 12 minutes in 12 hours what will be

the true time when the watch indicates 1 p.m. on the 6th day?

a. 10am. { !b. 11am. | ¢. 12noon | d. Noneofthese

If, PET =4, LET = 3, JEY = 2, then what is the value of XET ?

el  hs {(Jec.6 []d. 8 i
Six persons A, B, C, D, E and F are standing in a circle. B is between F and C, A is between E and D,
Fistotheleft of D. Whoisbetween Aand F ?

a. B b. C n c. D d. E

Look at thisseries: 8,43,11,41, ,39,17,...What number should fill in the blank?

a. 8 [[ib. 14 [ Je 43 [ id. 44 G
Five boys A, B, C, D and E are standing in a row. A is between C and D and B is between D and E.

Which of the following pairs represents the boys standing at both the ends?
a. C,B h: E,C e BA : | . AL

Arrange the following words in a meaningful order.

1.Frog 2.Eagle 3.Grasshopper 4.Snake 5.Grass

a. 3,4,2,5,1 | ih 1,85,24 { le.5.81,42 L id 53421
Which will come next in the series? az, by, cx, ?

a. ef ~ 'b.gh e i ld. dw
Which most closely resembles the mirror image of the given word STROKE

a. BTAONH . b. EKORTS .~ e. ROKETS - d. IA04T?2
A duck flew at 18 km per hour for 3 hours, then at 15 km per hour for 2 hours. How far did the duck
flyin all?

a. 69km ~ b. 75km ~¢. 81km ‘d. 84km
Count the number of triangles in the following figure.

a. 8 b 10 e 12 o d. 14

Find the missing character. . 4 7 4

a. 1 _ihb. 2 c. 3 d. 4 64,;'528

? 95
A and B are a married couple. X and Y are brothers, Xis brother of A. How is Y related to B?

a. Brotherinlaw b. Brother ¢. Soninlaw d. Cousin

12




Computers and Information Technology

31. In computer scanner is device
a. Input .| b. Output .| ¢c. Both : d. None
32. Speed of laser printeris measuredin______ -
a. LPM [1b. PPM [le DEI [7a. DPS
33. The second generation of electronic computers began with the development of the
a. ULSI ~ b. Vacuum tubes ~  c. Transistors .| d. Bio-chips
24 A set of detailed, step-by-step instructions that tells a computer how to solve a problem or carry
out ataskis known as
a. Program | b. Data ¢. Information ' d. Allofabove

36.

(W]
o

39.

40.

. Why was punch cards invented?

a. Toautomate the weaving loom by Joseph Jacquard

b. To tabulate the census data by Dr. Herman Hollerith

c. Toprogram Analytical Engine by Lady Augusta

d. Noneofabove

What is a computer?

2. Aelectronicdevice that processes data via instructions to output information for use.
b. Raw factsand figuresthat hasno meaning processed via a set of instructions.

¢. Meaningattached to dataletters, pictures, symbols or sounds.

d. Alloftheabove

. The central processing unitis located in the:

a. Harddisk ~ b. Systemunit ~ ¢. Memory - d. Monitor
_ In order to protect computers against a computer virus one canuse:
a. Microsoft Windows 2000 ' b. McAfee anti-virus
¢. Microsoft Office ~ 'd. None
People who break in computer systems for malicious purposes are known as:
a. Hackers b. Thieves | ¢. Crackers ~ d. Securityexperts
Which one of these can produce the final product of machine processing usable by humans?
a. Storage b. Control " ¢. Inputdevice ~ d. Output device
1. CD-ROMisa___
a. Semiconductor memory b. Memory register
c. Magneticmemory d. None of above
_ Which of the followingisnota primary storage device?

a. Magnetictape b. Magneticdisk ¢. Optical disk - d. Noneofabove

3. The first electronic computer in the world was

a. UNIVAC . EDVAC c. ENIAC d. Allofabove
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44. You used the drawing tools to create a pentagon. When you tried to fill the shape with blue, both
the shape and the document changed to blue color. This happened because

a. There were too many shapes __ b. Thepaint brush was outside the shape
¢. Theshape was the wrongsize ' d. Therewasabreak in the shape
45. You cannot close MS Word application by
a. Choosing File menu then Exit submenu " || b. PressAlt+F4 o
¢. Click X hutton on title bar ' d. From File menu choose Close submenu
46. Thekey F12 opensa
a. SaveAsdialogbox | |b. Opendialogbox | | c. Savedialoghox | |d. Closedialoghox

477. Portrait and Landscape are
a. PageOrientation [ | b. PaperSize | c. PageLayout " 1d. Allofabove
48. Which of the following is not a way to cut ext?
a. Select the text and press the delete button [
b. Select the text and select Edit, Cut from the menu
c. Select the text and click the Cut button on the toolbar
d. Select the text and press Ctrl+X (]
49. The quickest way to create a PowerPoint presentation is to use the
a. Word for windows templates " | b. Autocreation wizard =
¢. Auto content wizard | 1d. Presentationwizard -~ = . [}
50. A computer virusthat actively attacks an anti-virus program in an effort to prevent detection is
a. Trojan {1 b. Ghostvirus . '

| c. Worm [} d. Retrovirus
ANSWER SHEET
Do above questions and check for the answers below.
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